[image: image1.emf]TPC total current via high voltage with 90Sr source.
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[image: image2.emf]TPC counting rate with 90Sr source.

Hydrogen.  

P=10.15Bar. 

 Wire #6.  HV(main cathode)=20kV
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[image: image3.emf]TPC current via high voltage with 90Sr source under the different pressures.

Hydrogen.  HV (main cathode)=20 kV.
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[image: image4.emf]TPC counting rate with 90Sr source under the different pressures.

Hydrogen.   HV(main cathode)=20kV
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[image: image5.emf]Counting rate taking from different wires along TPC. 

90Sr source.   Hydrogen. 

P=10.15Bar.

  HV(main cathode)=20kV.
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[image: image6.emf]TPC total current via high voltage with 90Sr source.

Hydrogen.  

P=10.15 Bar. 

 HV (main cathode)=20 kV.
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[image: image7.emf]TPC current via high voltage with 90Sr source under the different pressures.

Hydrogen.  HV (main cathode)=20 kV.
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[image: image8.emf]TPC counting rate with 90Sr source.

Hydrogen.  

P=10.15Bar. 

 Wire #6.  HV(main cathode)=20kV
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[image: image9.emf]TPC counting rate with 90Sr source under the different pressures.

Hydrogen.   HV(main cathode)=20kV
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[image: image10.emf]Counting rate taking from different wires along TPC. 

90Sr source.   Hydrogen. 

P=10.15Bar.

  HV(main cathode)=20kV.
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				6.2		55		10.7				6.2		25970		160				6		53.5		34.6		12000		9150

				6.3		75.5		11.6				6.3		31900		180				6.1		74		43		17850		15900

				6.4		99		11.9				6.4		36200		180				6.2		103		55				25970

				6.5		136		12				6.5		36000		200				6.3		144		75.5				31900

																				6.4				99				36200

						Counting rate along TPC														6.5				136				36000

				Distance		HV=6.0,kV		HV=6.1,kV		HV=6.2,kV		HV=6.3,kV

				0

				20		8710		17400		25300		31900

				84		6200		11620		16200		19300

				148		4250		7600		10950		13000

				212		3000		5250		7820		9300

				276		2600		3800		5700		7350
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Current with 90Sr source

Dark current

High voltage, kV

Current, nA

TPC total current via high voltage with 90Sr source.
Hydrogen.  P=10.15 Bar.  HV (main cathode)=20 kV.
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Rate_10Bar
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Counting rate with 90Sr source

Counting rate witout 90Sr source

High voltage, kV

Counting rate, 1/sec

TPC counting rate with 90Sr source.
Hydrogen.  P=10.15Bar.  Wire #6.  HV(main cathode)=20kV
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Along TPC
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		148		148		148		148

		212		212		212		212
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HV=6.0,kV

HV=6.1,kV

HV=6.2,kV

HV=6.3,kV

Distance along TPC, mm

Counting rate, 1/sec

Counting rate taking from different wires along TPC. 
90Sr source.   Hydrogen. P=10.15Bar.  HV(main cathode)=20kV.
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Current P=var
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P=9.68Bar

P=10.15Bar

High voltage, kV

Current, kV

TPC current via high voltage with 90Sr source under the different pressures.
Hydrogen.  HV (main cathode)=20 kV.
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Rate P=var
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P=9.68Bar  (wire #37)

P=10.15Bar (wire #6)

High voltage, kV

Counting rate, 1/sec

TPC counting rate with 90Sr source under the different pressures.
Hydrogen.   HV(main cathode)=20kV
18.05.2005
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_1178007492.xls
Data

				P=10.15Bar, Current								P=10.15Bar, Counting rate										P=9.68Bar		P=10.15Bar		P=9.68Bar  (wire #37)		P=10.15Bar (wire #6)

				HV, kV		I (90S), nA		I (dark), nA				HV, kV		N (90Sr), 1/sec		N(dark), 1/sec				HV, kV		I (90Sr), nA		I (90S), nA		N (90Sr), 1/sec		N (90Sr), 1/sec

				2		0.7		0.7				2		10		12				2		0.2		0.7		11		10

				2.5		1.1		1				2.5		15		14				2.5		0.3		1.1		16		15

				3		1.7		1.8				3		24		25				3		0.4		1.7		20.5		24

				3.5		3		2.8				3.5		38		34				3.5		1.4		3		27		38

				4		4.8		4.6				4		42		42				4		3		4.8		37		42

				4.5		6.4		6.2				4.5		60		50				4.5		5.3		6.4		45		60

				5		8.7		7.6				5		82		82				5		8.1		8.7		91		82

				5.2		9.9		8				5.2		150		84				5.2		10.6		9.9		220		150

				5.4		12.2		8.5				5.4		420		92				5.4		14		12.2		550		420

				5.6		16		9.2				5.6		1050		105				5.5		17.5		14		840		670

				5.8		22.2		9.8				5.8		3170		115				5.6		20.5		16		1245		1050

				5.9		26.4		9.9				5.9		5100		120				5.7		27		19		2150		1900

				6		34.6		10.2				6		9150		135				5.8		35		22.2		3825		3170

				6.1		43		10.3				6.1		15900		145				5.9		44.5		26.4		7350		5100

				6.2		55		10.7				6.2		25970		160				6		53.5		34.6		12000		9150

				6.3		75.5		11.6				6.3		31900		180				6.1		74		43		17850		15900

				6.4		99		11.9				6.4		36200		180				6.2		103		55				25970

				6.5		136		12				6.5		36000		200				6.3		144		75.5				31900

																				6.4				99				36200

						Counting rate along TPC														6.5				136				36000

				Distance		HV=6.0,kV		HV=6.1,kV		HV=6.2,kV		HV=6.3,kV

				0

				20		8710		17400		25300		31900

				84		6200		11620		16200		19300

				148		4250		7600		10950		13000

				212		3000		5250		7820		9300

				276		2600		3800		5700		7350
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Current with 90Sr source

Dark current

High voltage, kV

Current, nA

TPC total current via high voltage with 90Sr source.
Hydrogen.  P=10.15 Bar.  HV (main cathode)=20 kV.
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Counting rate with 90Sr source

Counting rate witout 90Sr source

High voltage, kV

Counting rate, 1/sec

TPC counting rate with 90Sr source.
Hydrogen.  P=10.15Bar.  Wire #6.  HV(main cathode)=20kV
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Along TPC

		0		0		0		0
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		84		84		84		84

		148		148		148		148

		212		212		212		212

		276		276		276		276



HV=6.0,kV

HV=6.1,kV

HV=6.2,kV

HV=6.3,kV

Distance along TPC, mm

Counting rate, 1/sec

Counting rate taking from different wires along TPC. 
90Sr source.   Hydrogen. P=10.15Bar.  HV(main cathode)=20kV.
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Current P=var
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P=9.68Bar

P=10.15Bar

High voltage, kV

Current, kV

TPC current via high voltage with 90Sr source under the different pressures.
Hydrogen.  HV (main cathode)=20 kV.
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Rate P=var
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P=9.68Bar  (wire #37)

P=10.15Bar (wire #6)

High voltage, kV

Counting rate, 1/sec

TPC counting rate with 90Sr source under the different pressures.
Hydrogen.   HV(main cathode)=20kV
18.05.2005
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_1178007276.xls
Data

				P=10.15Bar, Current								P=10.15Bar, Counting rate										P=9.68Bar		P=10.15Bar		P=9.68Bar  (wire #37)		P=10.15Bar (wire #6)

				HV, kV		I (90S), nA		I (dark), nA				HV, kV		N (90Sr), 1/sec		N(dark), 1/sec				HV, kV		I (90Sr), nA		I (90S), nA		N (90Sr), 1/sec		N (90Sr), 1/sec

				2		0.7		0.7				2		10		12				2		0.2		0.7		11		10

				2.5		1.1		1				2.5		15		14				2.5		0.3		1.1		16		15

				3		1.7		1.8				3		24		25				3		0.4		1.7		20.5		24

				3.5		3		2.8				3.5		38		34				3.5		1.4		3		27		38

				4		4.8		4.6				4		42		42				4		3		4.8		37		42

				4.5		6.4		6.2				4.5		60		50				4.5		5.3		6.4		45		60

				5		8.7		7.6				5		82		82				5		8.1		8.7		91		82

				5.2		9.9		8				5.2		150		84				5.2		10.6		9.9		220		150

				5.4		12.2		8.5				5.4		420		92				5.4		14		12.2		550		420

				5.6		16		9.2				5.6		1050		105				5.5		17.5		14		840		670

				5.8		22.2		9.8				5.8		3170		115				5.6		20.5		16		1245		1050

				5.9		26.4		9.9				5.9		5100		120				5.7		27		19		2150		1900

				6		34.6		10.2				6		9150		135				5.8		35		22.2		3825		3170

				6.1		43		10.3				6.1		15900		145				5.9		44.5		26.4		7350		5100

				6.2		55		10.7				6.2		25970		160				6		53.5		34.6		12000		9150

				6.3		75.5		11.6				6.3		31900		180				6.1		74		43		17850		15900

				6.4		99		11.9				6.4		36200		180				6.2		103		55				25970

				6.5		136		12				6.5		36000		200				6.3		144		75.5				31900

																				6.4				99				36200

						Counting rate along TPC														6.5				136				36000

				Distance		HV=6.0,kV		HV=6.1,kV		HV=6.2,kV		HV=6.3,kV

				0

				20		8710		17400		25300		31900

				84		6200		11620		16200		19300

				148		4250		7600		10950		13000

				212		3000		5250		7820		9300

				276		2600		3800		5700		7350
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Current with 90Sr source

Dark current

High voltage, kV

Current, nA

TPC total current via high voltage with 90Sr source.
Hydrogen.  P=10.15 Bar.  HV (main cathode)=20 kV.
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Counting rate with 90Sr source

Counting rate witout 90Sr source

High voltage, kV

Counting rate, 1/sec

TPC counting rate with 90Sr source.
Hydrogen.  P=10.15Bar.  Wire #6.  HV(main cathode)=20kV
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Along TPC
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		212		212		212		212
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HV=6.0,kV

HV=6.1,kV

HV=6.2,kV

HV=6.3,kV

Distance along TPC, mm

Counting rate, 1/sec

Counting rate taking from different wires along TPC. 
90Sr source.   Hydrogen. P=10.15Bar.  HV(main cathode)=20kV.
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Current P=var
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P=9.68Bar

P=10.15Bar

High voltage, kV

Current, kV

TPC current via high voltage with 90Sr source under the different pressures.
Hydrogen.  HV (main cathode)=20 kV.
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Rate P=var
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P=9.68Bar  (wire #37)

P=10.15Bar (wire #6)

High voltage, kV

Counting rate, 1/sec

TPC counting rate with 90Sr source under the different pressures.
Hydrogen.   HV(main cathode)=20kV
18.05.2005
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